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Graph the Following functions:
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Rewrite the function in the form f(x) = q(x) + —, then write the transformations
2 a(x)

from its parent function and sketch a complete graph of f(x).
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Give the function and analyze the following graphs:

(17)0= 1 — +2 \

A= .
pomain: (- ed, 40 (4 =) e B! Ll | T—

e 3 : |
. e, o I Sl B { (» )
Range: (-00 )y (2, ) \ ;

V Asymptote: ¥ - 4

e

H Asymptote:

e

\\increasing: Nown:

decreasing: (-0, 4) U [ Y @)

/
End Behavior: Asymptete behavior:
( [l o798, S
X3 - e
yl" o £ i




18. g(x)=
Range:

V Asymptote: 5
H Asymptote: / |

increasing: |
l
f

|

[

I

Domain: J,’
| J

I

f

decreasing:

End Behavior: Asymptete-behavior:

o ¢
ZROLE TG 3 e A 2

. X
Domain: (-6 0)U( )
Range: (- o0 -2\,

V Asymptote: x =
H Asymptote: 4y 5 -3
increasing: Nowna
decreasing: (o5 0Y) 0 ( 0, o)

End Behavior:
U L= -3
‘X‘_D - OO0
WA - | ,f“»‘ = &

\/
X200

Review
Simplify the following rational expressions
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